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What Do You Call a Knife That Cuts Four
Loaves of Bread at Once?

Work any problem below and find your answer in the answer column. Notice the l 'etter
next to it. This letter goes in each box at the bottom of the page that contains the
problem number.
KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO THE TITLE QUEST/OA/,

A person standing on Mars would weigh 38o/o ol his earth
weight. What is the Mars weight of a person with an earth
weight of 55 kilograms? n = 3A X 55
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what is the actual length of the shiR? 
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8 Tssoo\9) A salesman keeps 8lo of his sales as a commission. How much ,
-- = - does he have to sell to earn $20,000t
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il4t P.J. Average b.o.ught a stock at $30 per share and sold it
a i  $ i j l  per snare.  What percent prof i t  d id he make? 
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